

Basic Integration I

$$\int f(x) + g(x) dx = \int f(x) dx + \int g(x) dx$$

$$\textcircled{1} \int \left[\frac{x^2 + x}{x} - e^x + 2\pi \right] dx$$

$$\int x^n dx = \frac{x^{n+1}}{n+1} + C$$

$$\int \frac{x^2}{x} + \frac{x}{x} - e^x + 2\pi dx$$

$$\int c dx = c \int dx = cx + D$$

$$\int x + 1 - e^x + 2\pi dx$$

$$\int 2\pi dx = 2\pi \int 1 dx = 2\pi x + D$$

$$\int x dx + \int 1 dx - \int e^x dx + \boxed{\int 2\pi dx}$$

$$\frac{x^2}{2} + x - e^x + 2\pi x + 2\pi x + C$$

② $\int (x^{3/2} + x^{-3/2})^2 dx$ Let's simplify the integrand

$$\begin{aligned} (x^{3/2} + x^{-3/2})^2 &= (x^{3/2})^2 + 2x^{3/2}x^{-3/2} + (x^{-3/2})^2 \\ &= x^3 + 2x^0 + x^{-3} = \boxed{x^3 + 2 + x^{-3}} \end{aligned}$$

$$\int x^3 + 2 + x^{-3} dx$$

$$\int x^3 dx + \int 2 dx + \int x^{-3} dx$$

$$\frac{x^4}{4} + 2x + \frac{x^{-2}}{-2} + C$$

$$\boxed{\frac{x^4}{4} + 2x - \frac{1}{2x^2} + C}$$

Recall

$$x^a x^b = x^{a+b}$$

$$x^0 = 1$$

$$(x^{\frac{a}{b}})^c = x^{ac/b}$$

$$\frac{x^a}{x^b} = x^{a-b}$$

$$\textcircled{3} \int \frac{x^3 - \sqrt[3]{x}}{2\sqrt{x}} dx$$

Recall
 $\sqrt[n]{x^m} = x^{m/n}$

$$\frac{x^a}{x^b} = x^{a-b}$$

$$\int \frac{x^3}{2\sqrt{x}} dx - \int \frac{\sqrt[3]{x}}{2\sqrt{x}} dx$$

$$\int \frac{x^3}{2x^{1/2}} dx - \int \frac{x^{1/3}}{2x^{1/2}} dx$$

$$\frac{1}{3} - \frac{1}{2} = -\frac{1}{6}$$

$$\frac{1}{2} \int x^{5/2} dx - \frac{1}{2} \int x^{-1/6} dx$$

$$\frac{1}{2} \frac{x^{7/2}}{7/2} - \frac{1}{2} \frac{x^{5/6}}{5/6} + C = \frac{1}{2} \cdot \frac{2}{7} x^{7/2} - \frac{1}{2} \cdot \frac{3}{5} x^{5/6} + C$$

$$\frac{1}{2} \cdot \frac{2}{7} x^{7/2} - \frac{1}{2} \cdot \frac{3}{5} x^{5/6} + C = \frac{1}{7} x^{7/2} - \frac{3}{5} x^{5/6} + C$$

$$\textcircled{4} \int \frac{5}{3t^7} + \frac{1}{t^9} - \frac{3}{\sqrt[3]{t^7}} dt$$

$$\frac{1}{t^7} = t^{-7}$$

$$\frac{3}{\sqrt[3]{t^7}} = \frac{3}{t^{7/3}} = 3t^{-7/3}$$

$$\int \frac{5}{3} t^{-7} + t^{-9} - 3t^{-7/3} dt$$

$$\int \frac{5}{3} t^{-7} dt + \int t^{-9} dt - \int 3t^{-7/3} dt$$

$$\frac{5}{3} \frac{t^{-6}}{-6} + \frac{t^{-8}}{-8} - 3 \frac{t^{-4/3}}{-4/3} + C$$

$$-\frac{5}{18} \frac{1}{t^6} - \frac{1}{8t^8} - 3 \cdot \frac{3}{-4} t^{-4/3} + C$$

$$-\frac{5}{18} \cdot \frac{1}{t^6} - \frac{1}{8t^8} + \frac{9}{4} t^{-4/3} + C$$

$$-\frac{5}{18t^6} - \frac{1}{8t^8} + \frac{9}{4t^{4/3}} + C$$

Basic Integration 2

$$\textcircled{5} \int \sqrt{x} \left(x^3 - \frac{1}{2x} \right) dx$$

Solution:

$$\int x^{1/2} \left(x^3 - \frac{1}{2} x^{-1} \right) dx$$

$$\int x^{1/2} x^3 - \frac{1}{2} x^{1/2} x^{-1} dx$$

$$\int x^{7/2} - \frac{1}{2} x^{-1/2} dx$$

$$\int x^{7/2} dx - \int \frac{1}{2} x^{-1/2} dx$$

$$\frac{x^{9/2}}{9/2} - \cancel{\frac{1}{2}} \frac{x^{1/2}}{\cancel{1/2}} + C \Rightarrow \boxed{\frac{2}{9} x^{9/2} - x^{1/2} + C}$$

Recall

$$x^{1/2} x^3 = x^{\frac{1}{2}+3} = x^{7/2}$$

$$x^{1/2} x^{-1} = x^{-1/2}$$

$$\int x^{m/n} dx = \frac{x^{m/n+1}}{\frac{m}{n}+1} + C$$

$$\textcircled{6} \int 2e^t + e^{-\frac{1}{2t}} dt$$

Solution:

$$\int 2e^t dt + \int e dt + \int -\frac{1}{2t} dt$$

$$2 \int e^t dt + e \int 1 dt - \frac{1}{2} \int \frac{1}{t} dt$$

$$\underline{2e^t + et - \frac{1}{2} \ln|t| + C}$$

Recall:

$$\int e^t dt = e^t + C$$

$$\int c dt = ct + D$$

$$\int \frac{1}{t} dt = \ln|t| + D$$

$$\int c f(t) dt = c \int f(t) dt$$

$$\textcircled{7} \int \frac{1}{1+t^2} + \frac{2}{\sqrt{1-t^2}} + \sin t - \cos t \, dt$$

$$\text{SOLN: } \int \frac{1}{1+t^2} \, dt + \int \frac{2}{\sqrt{1-t^2}} \, dt + \int \sin t \, dt + \int -\cos t \, dt$$

$$\int \frac{1}{1+t^2} \, dt + 2 \int \frac{1}{\sqrt{1-t^2}} \, dt + \int \sin t \, dt - \int \cos t \, dt$$

$$\underline{\tan^{-1}t + 2 \sin^{-1}t - \cos t - \sin t + C}$$

Recall: $\int \frac{1}{1+t^2} \, dt = \tan^{-1}t + C$

$$\int \cos x \, dx = \sin x + C$$

$$\int \frac{1}{\sqrt{1-t^2}} \, dt = \sin^{-1}t + C$$

$$\textcircled{8} \int \sec^2 x + \csc^2 x + \sec x \tan x \, dx$$

Solution

$$\int \sec^2 x \, dx + \int \csc^2 x \, dx + \int \sec x \tan x \, dx$$

$$\underline{\tan x + -\cot x + \sec x + C}$$

Recall : $\frac{d}{dx} \tan x = \sec^2 x$ $\frac{d}{dx} \cot x = -\csc^2 x$

$$\frac{d}{dx} \sec x = \sec x \tan x$$

$$\int \sec^2 x \, dx = \tan x + C$$

$$\int \sec x \tan x \, dx = \sec x + C$$

$$\int \csc^2 x \, dx = -\cot x + C$$

$$\textcircled{9} \int \sec^2 x (\cos^2 x + \sin^2 x) dx$$

Recall!
 $\cos^2 x + \sin^2 x = 1$

Solution: $\int \sec^2 x (1) dx$

$$\int \sec^2 x dx = \tan x + C$$

$$\textcircled{10} \int \frac{x^8 - 2x^3 + 3x^2 - 4}{x^3} dx$$

Solution:

$$\int \frac{x^8}{x^3} - \frac{2x^3}{x^3} + \frac{3x^2}{x^3} - \frac{4}{x^3} dx$$

$$\int x^5 - 2 + \frac{3}{x} - \frac{4}{x^3} dx$$

⑩ Continued

$$\int x^5 dx - \int 2 dx + \int \frac{3}{x} dx - \int 4x^{-3} dx$$

$$\int x^5 dx - 2 \int 1 dx + 3 \int \frac{1}{x} dx - 4 \int x^{-3} dx$$

$$\frac{x^6}{6} - 2x + 3 \ln|x| - \frac{4x^{-2}}{-2} + C$$

$$\frac{x^6}{6} - 2x + 3 \ln|x| + \frac{2}{x^2} + C$$

Basic Integration 3

$$\textcircled{11} \int x^3 - \left(\frac{e^{-x} - 2}{e^{-x}} \right) dx$$

SOLN: $\int x^3 - \left(\frac{e^{-x}}{e^{-x}} - \frac{2}{e^{-x}} \right) dx$

$$\int x^3 - (1 - 2e^x) dx$$

$$\int x^3 - 1 + 2e^x dx$$

$$\int x^3 dx - \int 1 dx + \int 2e^x dx$$

$$\frac{x^4}{4} - x + 2e^x + C$$

Recall

$$\int e^x dx = e^x + C$$

$$\int 1 dx = x + C$$

$$\frac{1}{e^{-x}} = e^x$$

$$e^{-x} = \frac{1}{e^x}$$

⑫ Find $f(x)$ if $f'(x) = e^x + (1+x^2)^{-1} + \sin x$ $f(0) = 1$

Solution: $f(x) = \int f'(x) dx$

$$f(x) = \int e^x + (1+x^2)^{-1} + \sin x dx$$

$$f(x) = \int e^x dx + \int \frac{1}{1+x^2} dx + \int \sin x dx$$

$$f(x) = e^x + \tan^{-1} x + -\cos x + C$$

We are given $f(0) = 1 \Rightarrow$ subst. $x=0$ and $f(0) = 1$ and solve for C

$$1 = e^0 + \tan^{-1} 0 - \cos 0 + C$$

$$1 = 1 + 0 - 1 + C \Rightarrow C = 1$$

$$f(x) = e^x + \tan^{-1}x - \cos x + 1$$

Recall

$$\tan^{-1}0 = 0$$

$$e^0 = 1$$

$$\cos 0 = 1$$

Let's now verify our solution

$$f'(x) = e^x + \frac{1}{1+x^2} - (-\sin x)$$

$$f'(x) = e^x + \frac{1}{1+x^2} + \sin x$$

✓

Let's also check $f(0) = 1$

$$f(x) = e^x + \tan^{-1}x - \cos x + 1$$

$$f(0) = e^0 + \tan^{-1}0 - \cos 0 + 1$$

$$f(0) = 1 + 0 - \cancel{1} + \cancel{1} = 1 \Rightarrow f(0) = 1 \quad \checkmark$$

Check out the Calculus 2 \int video tutorial course with 45 hours of step by step video explanations!
Get access to all the corresponding videos to this PDF document: (1 week free trial !) :

<https://integral-calculus-videos.thinkific.com/courses/integral-calculus>

Do you need a Calculus tutor ?

Website: <https://www.ubcmathtutor.com>

Email: ubcmathtutor1@gmail.com

iMessage: ubcmathtutor1@gmail.com

Cell/Text: 604-318-1970

© Copyright: Reza Shenassa (2020-2021). All rights reserved. This document may be shared for educational purposes only and for non-commercial use.

Basic Integration 4

13] A ball is thrown downward with a speed of $10 \frac{\text{m}}{\text{sec}}$ from the edge of a cliff 100 metres above the ground. Find the equation for the height of the ball t seconds later?

Solution : We choose the upwards direction to be positive and the downwards direction to be negative and since the force of gravity is downwards the acceleration of the ball must be negative and the initial velocity of the ball is also negative since the ball is thrown downwards.

$$a(t) = -9.8 \frac{\text{m}}{\text{s}^2}$$

$$v(0) = -10 \frac{\text{m}}{\text{sec}}$$

$$s'(0) = 100 \text{ m}$$

$s(t)$ is the height of ball above the ground at time t

Recall: $v(t) = s'(t)$ $v'(t) = a(t) = s''(t)$

$$a(t) = -9.8 \Rightarrow s''(t) = -9.8$$

$$s'(t) = v(t) = \int s''(t) dt = \int -9.8 dt = -9.8t + C$$

but $v(0) = -10 \text{ m/sec} \Rightarrow -10 = -9.8(0) + C$

$$\therefore C = -10 \Rightarrow s'(t) = -9.8t - 10$$

$$s(t) = \int s'(t) dt = \int (-9.8t - 10) dt$$

$$s(t) = \int -9.8t dt - \int 10 dt$$

$$s(t) = -9.8 \int t dt - 10 \int 1 dt$$

$$s(t) = -\frac{9.8t^2}{2} - 10t + D$$



$$s'(t) = -\frac{9.8t^2}{2} - 10t + D$$

We are given $s'(0) = 100$ m *initial height of ball*

$$t = 0 \quad s'(t) = 100 \text{ m}$$

$$100 = \frac{-9.8(0)^2}{2} - 10(0) + D$$

$$D = 100$$

$$s'(t) = -4.9t^2 - 10t + 100$$

height of ball t seconds after it was thrown from edge of cliff.

Check out the Calculus 2 \int video tutorial course with 45 hours of step by step video explanations!
Get access to all the corresponding videos to this PDF document: (1 week free trial !) :

<https://integral-calculus-videos.thinkific.com/courses/integral-calculus>

Do you need a Calculus tutor ?

Website: <https://www.ubcmathtutor.com>

Email: ubcmathtutor1@gmail.com

iMessage: ubcmathtutor1@gmail.com

Cell/Text: 604-318-1970

© Copyright: Reza Shenassa (2020-2021). All rights reserved. This document may be shared for educational purposes only and for non-commercial use.